REPLACEMENT PARTS LIST

RYOBI

MODEL NO.

RY141802VNM

MFG. NO.

095079798

DESCRIPTION

Electric Pressure Washer

TTI CONSUMER POWER TOOLS, INC.
P.O. Box 1288, Anderson, SC 29622 ®m 1-800-525-2579 ® www.ryobitools.com

The model number and manufacturing location will be found on a label attached to the product. Always mention this information in all communications regarding this product and when ordering parts.

998000644
2-8-22 (Rev:02)




RYOBI RY141802VNM




RYOBI RY141802VNM

PARTS LIST
KEY NO.| PART NO. DESCRIPTION QTy. KEY NO.| PART NO. DESCRIPTION QTy.
1 536489001 | Power Switch Cover 1 17 522051003 | Electrical Cord Clamp 1
2 1980414038 | Foam Cover 1 18 | 661610008 | Screw (M3.5 x 20 mm) 2
3 | 527648011 | Plastic Handle 1 19 | 661403015 | Screw (M2.9 x 14 mm) 4
4 522032079 | Upper Housing 1 20 661403014 | Screw w/Washer (M4.2 x 16 mm) 2
5 522038007 | Brush Motor Air Guide 1 21 630236004 | Terminal 4
6 561383021 | Nozzle Grommet 2 22 527784005 | Terminal 4
7 | 760504007 | Main Switch 20A (16A) 1 23 | 870601001 | Wire Nut 1
8 |561383025 | Housing Grommet 1 24 |310801001 | Velcro Strap 1
9 1290426047 | Electrical Cord 1 25 308450010 | Foam Nozzle 1
10 270290032 | GFCI Plug 2 Prong 1 26 | 308698023 | 15 Degree Nozzle 1
11 308833069 | Pump Motor 1 27 308311040 | Turbo Nozzle 1
12 570113003 | Thermal Sleeve 2 28 308835134 | 20ft Hose 1
13 522038031 | Lower Housing 1 29 308760083 | Trigger Handle Assembly 1
14 528499001 | Electric Cord Clip 1 30 308494075 | Spray Wand 1
15 636204001 | Motor Clamp Plate 2 Not Shown:
16 | 661403016 | Screw (M4.2 x 15 mm) 10 998000642 | Operator's Manual (960087619)




1

RYOBI RY141802VNM

PARTS LIST

KEY NO.| PART NO. DESCRIPTION QTY.| |KEY NO.| PART NO. DESCRIPTION QTY.| [KEY NO.| PART NO. DESCRIPTION ary.

940324040 | Trigger Handle Warning 7 941027012 | Starting Instructions Label 13 940473008 | Warning Notice Hangtag

940324024 | Trigger Warning (FR/SP) 8 941027013 | On Label 14 918016081 | Nozzle Hangtag

940786053 | Trigger Logo Label 9 940779416 | Performance Label 15 | 940779415 | Nozzle Selection Label

940904013 | Trigger Handle Rating Label 10 940779418 | Ryobi Label 16 941486008 | Inquiries Label

940324013 | Warning Cordwrap Label 11 941027014 | Off Label 17 1940779417 | Regulator Label

oD~ |IN|—=
JEE'Q RNEIU NG (UG NG Y
G RGN TG UG G Y
RGN RGN NG (UG NG Y

940603006 | Cord Plug Label 12 1941027016 | Danger Label 18 | 941588971 | Data Label

4



RYOBI RY141802VNM

WHITE

ELECTRICAL
CORD PLUG



